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* Please check that this question paper contains 16 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

 Please check that this question paper contains 30 questions.

* Please write down the Serial Number of the question before attempting it.

* 15 minutes time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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ferfia amer - 3 v ] [ 3Tferma 37 : 100
Time allowed : 3 hours | [ Maximum marks : 100
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2. ¥l & 3 YA Y9 & G [RTTTE |
3. ¥ET T 1-5 3K 16-20 AfAcTger Fo7 & FedF & om0 1 3%
FERa 81 9% &7 37 ek 17T 7 &7 |

4. F¥TE. 6-8 3R 21-23 TR T & 1574 J% & 77 3 3%
f3ERa & | Grar=Iaar Jcdes &7 397 60 Ioc] @ 37e 7 &1/

5. ¥ G 9-11 3K 24-26 4 TR J97 & (579 5% & ferg
4 37 [F4TRT & | 9c39% 7T I GrEr=a97 70 Iec] @ 371 7 &1/

6. J G 12-15 3R 27-30 I3 J57 & 37K 377 Ic9% & forw
6 3% [FGIRT 8/ 374 Jcd 7T I GIE=ETIT 100 Jea] G 37w
T8

7. I TRIG 3R gy & 9T JIYa IW & 1o [

Soq - HIHT T JTI5TH &G G Jioid 1597 51 |

Instructions :

1. All questions in both the sections are compulsory.
2. Marks for questions are indicated against each question.

3. Question No. I-5 and 16-20 are very short answer questions
carrying 1 mark each. They are required to be answered in

one sentence.

4.  Question No. 6-8 and 21-23 are short answer questions
carrying 3 marks each. Answers to them should not normally

exceed 60 words each.
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5. Question No. 9-11 and 24-26 are also short answer
questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

6. Question No. 12-15 and 27-30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

7. Answer should be brief and to the point and the above word

limit be adhered to as far as possible.

e A
SECTION A

1. & HHgid ard o9¢ Tl 8 3 3fEq gied! @ o2 @ 8 a HiHia
AT 3R 3Ed afadt amrd | o= gy gar 27 1

What is the relation between marginal cost and average variable
cost when marginal cost is rising and average variable cost is

falling ?

2. UM NT foh Tk a%g i ATURIE ShEAl oo T A qEIed
(=) fRR o @ st et 71 v fedfa o Huta aenfea : (we faseq

LY 1
(a) frod genfeg @ e enft

(b) o TEfed & U Brft

(c) frod genfia & a8l

(d) =g e
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Suppose total revenue is rising at a constant rate as more and more
units of a commodity are sold, marginal revenue would be :

(choose the correct alternative)

(a) Greater than average revenue
(b) Equal to average revenue
(c) Less than average revenue

(d) Rising

3. wimd ‘gfg’ e Bt }7 1

When does ‘increase’ in demand take place ?

4. ‘gEECE SHh e @ ¢ (wE foered i) 1
(a) et ol Sl
(b) had qUT STCHTEIHR
(c) (a) 3R (b) 3w
(d) 3ulierd H s T

‘Homogenous products’ is a characteristic of : (choose the correct

alternative)

(a) Perfect competition only
(b) Perfect oligopoly only
(c) Both (a) and (b)

(d) None of the above
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5. U BH o 3AE i hiAd TR AT & o9 faudia ee giar g : (F&!
[EETZECIEL) 1

(a) HIA THIRHR U

(b) I ThITErRTIE Ficr=frar |

(c) UHITHHT TR TehTlerehiesh Sfaaifirar arAi 4
(d) hae qut SfcTfiar 4

There is inverse relation between price and demand for the product

of a firm under : (choose the correct alternative)

(a) Monopoly only

(b) Monopolistic competition only

(c) Both under monopoly and monopolistic competition

(d) Perfect competition only

6. T UG hael &l J&qaT X IR Y o1 UM &l gl X 3R Y
HHId YA FHR: 5 3R 4 81 X AR Y sl Hiwd AN 4 & Ufd
3ohtS M1 5 . i gohTS | T SusiieRaT Eqe H 27 Susiieran sh ST
wicifshan @ Bl ? quesse) 3
A consumer consumes only two goods X and Y. Marginal utilities
of X and Y are 5 and 4 respectively. The prices of X and Y are Rs.

4 per unit and Rs. 5 per unit respectively. Is the consumer in

equilibrium? What will be the further reaction of the consumer?

Explain.
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7. @ Segel X R Y i hHa-uh dre HEI: -2 I -3 B TH 4@
fopEreht S -t o= 21fere & TR 17 3

Price elasticity of demand of good X is —2 and of good Y is —3.

Which of the two goods is more price elastic and why ?

8. 3ftreran shma Hwr ferior w37 g9eh giomm gwese?

HAYAT

Ife TSR hHd G hiud & H B A1 6ok HRU B Tl THET I
G Y| 3
What is maximum price ceiling ? Explain its implications.

Or

Explain the chain effects, if the prevailing market price is below

the equilibrium price.

9. G FEGAT hl hiFal H IREad & & WA F%q kI AT W I9E
HHLATRU 4

Explain the effect of change in prices of the related goods on

demand for the given good.

10. 3cqTe HoA shi Iy AT | TeuenTed | 3T SElehiced ™ 3caTe ol
& o9 ¥e S|
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AT

AT b1 gt iU 3Tere 3T uied] @Al o = 9e hifsu) T
T Tesh—Teh 3T SIfSY)| 4

Define production function. Distinguish between short run and long

run production functions.

Or

Define cost. Distinguish between fixed and variable costs. Give one

example of each.

11. T 3cUEH 10 &. Jid 318 W Tk %] 1 80 IH1s 1 Yfd el 3| fd
&1 HHd A 4 219 %, Ul 3918 W e et gfd s ? 4

A producer supplies 80 units of a good at a price of Rs. 10 per unit.
Price elasticity of supply is 4. How much will he supply at Rs. 9

per unit ?

12. I8 9 R Toh IS off Tamer Al aEqati o 3caed | T 90 o8 el
BT, 3H Ik ol 18 Sd1sC S ASIGET i Icq1e &war =i fewrar 2|
ST ST U HehT ToRINATE TSy | 6

Assuming that no resource is equally efficient in production of all
goods, name the curve which shows production potential of the

economy. Explain, giving reasons, its properties.
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13. ARME I5 foveryor § U1 dga i I1d gHesy| 6

Explain the conditions of consumer’s equilibrium using

indifference curve analysis.

14. “Irqfd wEn | gfEds SR CSd § 9iEd s site ST eHest|
[T 1 YR IS 6

Explain the distinction betwen “change in quantity supplied” and

“change in supply”. Use diagram.

e : haet e fera ufariiat o forg wem vt 14 % T W)

oyl e # ufEd SR eyl ® uftEed % S ST aeEsu
CUNEICAR RIS

Note : For blind candidates in lieu of Q. No. 14.

Explain the distinction between ‘“change in quantity supplied” and

“change in supply”. Use schedule.

15. T U Uit s o feforfiga o afom awemsy 6

(a) SHaT3Ti i TSt T
(b) Ut ol JaxT AR Fepreft <t Tz

HAYAT

Teh TTTIEehR IR | fAferiaa o aftomy gaemse

(a) BHT sl TR fafTan
(b) - Ffnfirar
58/1/1 8
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16.

17.

Explain the implications of the following in a perfectly

competitive market :

(a) Large number of buyers

(b) Freedom of entry and exit to firms
OR

Explain the implications of the following in an oligopoly

market :

(a) Inter-dependence between firms

(b) Non-price competition

G A )
SECTION B

ik <l uftsmr difso) 1

Define stocks.

A YSiTa TR o Joagi § STTHIE 98 © : (U fashed i) 1
(a) Haat AT fereTg

(b) A T AT
(c) TR foraTg TR Teafyra sTere
(d) HIA AT ST
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Depreciation of fixed capital assets refers to : (choose the correct

alternative)

(a) Normal wear and tear
(b) Foreseen obsolescence
(c) Normal wear and tear and foreseen obsolescence

(d) Unforeseen obsolescence

18. TS =49 9 &1 A= 27 1

What is revenue expenditure ?

19. TSERIYIT =TT $Heh THM BIAT ¢ : (FET Torehed ) 1

(a) A TAH
(b) =7

(c) TSI I ©T R0

(d) ZRUTHT SIS AT

Fiscal deficit equals : (choose the correct alternative)
(a) Interest payments

(b) Borrowings

(c) Interest payments less borrowing

(d) Borrowings less interest payments
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20. =7 fogeh fafma el sl fagsft fafme <ies o' wveama 2
(W@ forshed gw) !
(2) =LA
(b) Tefira -2
(c) @A -

(d) THTISH &g TH-aF

Foreign exchange transactions dependent on other foreign
exchange transactions are called : (choose the correct alternative)
(a) Current account transactions

(b) Capital account transactions

(c) Autonomous transactions

(d) Accommodating transaction

o

21. R AT W Haad e c;lf:s\ ATd <hlIsU .

(%. orEi |)
(i) 10 =¥ % ekt i TR ITAT IcaTaeh Sy 10
(i) TR SURANT IeuTEh THC 5
(iif) forshl 20
(iv) =¥ & SR Scarfed SFaferept AT 2
(v) STE WH 1 3
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Find net value added at factor cost :

(Rs. Lakh)
(1) Durable use producer goods with a life span
of 10 years 10
(i1) Single use producer goods 5
(ii1) Sales 20
(iv) Unsold output produced during the year 2
(v) Taxes on production 1

22. Himid 3us ygfa o fed 3udi ygfa ° 9 Shifse| w aiferda
ERRUKISIY

AT

ST 1 FH T T U ohl R THEET) 3

Distinguish between marginal propensity to consume and average
propensity to consume. Give a numerical example.
Or

Explain the role of taxation in reducing excess demand.

23. U Adaedr § a9 #@ 300 S T H ghg H St 21 Al dimia
39T ygf 2/3 & @ TP o1 | gig ra hifs) 3

In an economy investment is increased by Rs. 300 crore. If
marginal propensity to consume is 2/3, calculate increase in

national income.
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24. AW SHEAT o i IMMEE AREE R o Y TR @l ]
2| 3% Hehel TG IATE 3TN FHeAW W A Tl Joral 1 forwersor
Il 4

Government incurs expenditure to popularize yoga among the
masses. Analyse its impact on gross domestic product and welfare

of the people.

25. 951 1 Wod 999 il guest| avg fafee o wRu I gefed
THET 368 o LTS 7

HAAT

1 1 G i $hg 1 GHEST| 9% faf e & sror 3w defiq

GHET 394 hE LTS ¢ 4

Explain the ‘store of value’ function of money. How has it solved

the related problem created by barter ?

Or

Explain the ‘unit of account’ function of money. How has it solved
the related problem created by barter ?

26. T ISR it UfFAE 0T goi W0 e | fohg g e € 7
HHATRT | 4

Explain how open market operations are helpful in controlling

credit creation.
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27. THN IS T 7 HHSATEY L I A1ffeh TeTadT shl TETYAT o forawor
T YT ST o T8 8 T foha ST Eehat 2|

HAYAT

TR I91E § Toa TTitd 8 7 ST 2| THST foh Tiehi) s o
TfearEe | shind feorar @ | fore Tohr ST foram St Hemat B 6

What is government budget ? Explain how taxes and subsidies can

be used to influence allocation of resources.

Or

Define revenue receipts in a government budget. Explain how
government budget can be used to bring in price stability in the

economy.

28. 3IYANT 9% 9 S9d 9% I HISU R 3@ gfgn § fou SA a9 =1
18T | TG kT T hHIfSU) 6

Given consumption curve, derive saving curve and state the steps

taken in the process of derivation. Use diagram.

A : thael e faenferat @ forg em et 28 & e W)
I Fedd o TZeh HSTSU | SUHNT Held ¥ s<d hedd U6 hIfSU|

Note : For Blind Candidates in lieu of Q. No. 28.

Explain the components of consumption function. Derive saving

function from consumption function.
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29. (a) YA G @l & fohE IUciEl § TR fohd e T 9 | foan
T foresft ot ot foma e ? s <ifsiu)

(b) A ¥ faeeh Fawr 1 fafrwe 5t o o= gare w2 ? omgee | 3,3

(@) In which sub-account and on which side of balance of
payments account will foreign investments in India be

recorded ? Give reasons.

(b) What will be the effect of foreign investments in India on

exchange rate ? Explain.

30. T 1 R st 31 g1 hifsre

(Fe®.)

(i) TSI a1 o 1000

(i) o =i fae =T &t 20

(iii) foraeti =0t faet R A 1 A= 10

(iv) <™ 400

(v) USRI R0 W I 120

(vi) TSRt g1 AT ead 3TEH 100

(vil) HERR G t{lq\S{‘did{UI 60

(viii) TR ! ITH TER A= 150

(ix) et 200

(x) =S 300

(xi) T 50 4,2
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Downloaded-From:http://www.cbseportal.com



Downloaded From:http://www.cbseportal.com

Find national income and private income :

(Rs. crores)

(1) Wages and salaries 1000
(i1)  Net current transfers to abroad 20
(i11)  Net factor income paid to abroad 10
(iv)  Profit 400
(v)  National debt interest 120
(vi)  Social security contributions by employers 100
(vil)  Current transfers from government 60
(viii) National income accruing to government 150
(ix) Rent 200
(x)  Interest 300
(xi) Royalty 50
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